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PART : PHYSIC

: Find Cey across A & B for the given network
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2. An object is placed 12 cm away perpendiculady from plane mirror, Vriual & erect image is formed. If the

plane-mimor is moved 4 cm towards the object what will be displacement of image
(1) & cm away from cbject

(2} 8 cm towards object

{34 cm away from object

(4} 4 cm towards object

Ans.  (2)
Sol. D
3. Find Req across A& & B for the network given below
B
16 8 3 4
== Py = 3) = 4) =
(1) = {2) & (3) > {4) =
Ans. (1)

Sol.
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2.8
4, If errorin a,b,c,d is 1%, 2% , 3% & 4% respectively find errorinp if p= e ;
; d
(1) 114% (2) 13% (3) 10 % {4) 16%
Ans. (2)
A Az Ab A 1 Ad
Sol. Hsp= 432, i Y et
P a b [ 2 d
= 2% (195} + 3% (295) + (3%) + 29 = 13%
<1 Amplitude of carier wave is 15 volt for message signal amplitude is 3 volt find ratio of maximum amplitude
& minimum amplitude for the modulated signal.
] o 3 7 5
11— 2) = = 4)—
(1 @)= ( 3 (4) 5
Ans.  (3)
Sl -""'ms.x=A'E|'"b"r=E=E=E
Y Ann | AcoAr 12 2
6. 10-Resistors of 1002 are given find ratio of maximum resistance & minimum resistance that can be
attained from it.
(1) 25 (2) 12 (3) 16 {4) 10
Ans. (4)
Sol. For maximum, they must connected in seres Raa = 10 * 10
10
for minimum, they must be connected parallel Rnn = E =1
: 10
So, ratio = =2 =10
T. Waeight of a body on surface of earth is 200 N, then its weight at a depth R/2, R _; radius of earth.
(1) 100 N (2} 200 N (3} 50 N (4) 25N
Ans. (1)
Sol

g =g (1-h/R)
g =g(1-RI20R) =g{1-1/2) = g/2
Weight at R/2 distance = 200/2 = 100 N
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8.

Ans.

Sol.

Ans.

Sol.

10.

Ans.

Sol.

11.

Sol.

Angular momentum of electronin 1= orbit of hydrogen atom is L. electron jumps from 15 orbit to 27 orbit.
What will be the change in angular momentum of the electron.

(1) L2 {2y 2L (3L (43 3L

(3)

Angular momentum of electron in nth orbit is L =;—h =5 L= h

L=LandLlLi=2L
Sa L=Lj=2 <1L=1_

Two satellites of masses m and 3m are revolving around the earth in bwo different orbits of radius R and
3R respectively. Find ratio of their orbital speeds.

(1)+43 - 1 23472 ;1 (3) 1:1 {4)3:2
(1)
Orbital speed
i
[Gm 1
V= Vs —n
\r = ¥

v, [ _ [3R
e

A particle of mass M moving with a velocity v collides with & particle of mass 2m at rest and sticks to it
velocity of combined mass is equal to
(1) w (2} wf2 (3)wi3 (4} wid
(3)
F= Pr
my + 0 = {m+ 2mjve
¥

Ve = =

3

De-broglie wave length of a gas molecule to temperature 300 K is 7. what will be debroglie wavelength
of same gas molecule at 600 K.

(1) j; @ (3) V31 (4) V21
(2)
w h
B ‘(Ern—akT
3
g
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12.

Ans.

Sol.

13.

Ans.

Sol.

14.

Ans.

A particle in SHM is crossing J% & moving towards the extreme at t = 0. if its equation of SHM =

x = Asin{ot + 6}, Find . (A 15 amplitude of SHM)

(1) &0° (2) 1507 (3) 307 i4) 120°
(3)
=

| I

| ]

EF A2

(AL2]
=sin 1| —=| = 30°

; A |

A mong-atomic gas is compressed from (P, V) to —'I';:'- by two different process isothermally &

adiabatically (separately). If final pressure of the gas in both the processes is F, & P, respectively then
find ratio of B & Pa.

1 1 3 2
1) = . 3) = 4) =
l::IE {}4 [?4 {}4
(2)
FaVy F’z[l'éﬂ]: when y = 1 +§ -g

= P: = Pu{8) = Pul8)52 = 32 Py

Also PVy= Po2 =P, =8P, S0, -
Fal P 4

Statement 1 : Power factor of L.C.R circuit is 1 in resonance condition.

L - R
—— T ] — AN —
)
o

Statement 2 : For resonance condition in LCR circuit, phase difference between V and | is zemo
(1} Statement-1 and statement-2 both are correct

(2] Statement-1 and statement-2 both are incorrect
(3) Statement-1 is correct but statement-2 is incomect

(4} Statement-1 is incorrect and statement-2 is comect

(1)
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15. A particle 1s projected at an angle of 15 on the suriace of the earth. its horizontal range is 50m. what
will be the horizontal range of the particle if it is projected at an angle of 45° with same speed,
(1125 m {2) 100m {3} 200m {4y 75 m
Ans. (2)
Sol R= u® since . u? sin2x 15 : u sin30 - 1.L_2
g Q a 2q
R = u” sin2x 45 i u® sin90 o u_2
g g g

= R'=ZR=2x50=100 m

16. Fosition time graph of two student A & B is shown when both staris from school and reaches to home as
shown in graph.
xf A
i
------- A
i
i
i
i
- .
" > 1
IA) A moving faster then B (B) B moving faster then A
(C) A lives near school D) B lives near schoal.
(E) A takes more time to reach home then B
(1) ABD {2) BCD {3) BCE (4} BD
Ans. [3)

17. length of a long solenoid is 60 cm & total Mo. of tums in the solencid are 15. |f magnetic intensity is
2.4 Am than find current in the solenoid.
(1) 0.098A {2) 0.054A {3} 0.96 A {4) 0.54A

Ans. (1)

Sol. n:—wzw = 95

H=Eniml=s—=—F
n 2o

= [L096 A

18. Statement-1: Mo. of turns of galvanometer s doubled then current sensitivity becomes doubled
Statement-2: Keeping all other factor same if no. of tums increase then voliage sensitivity increase by
same ratio.

{1) Statement-1 and statement-2 both are correct

(2} Staterment-1 and statement-2 both are incomect
13) Statement-1 is correct but statement-2 is incomect
(4) Statement-1 is incorrect and statement-2 is comect

Ans.  (3)
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Sol.

19.

Ans.

Sol.

Ans.

Sol.

21.

Statement (1) s comrect & statement (2) 1s incormect

gg= 0
i c

vt NS
vV CR

FPower across zener diode is 1.6 watt and Break down voltage is 8 Volt. If input voltage sre from 3V to
100 then K, will be

L.
10V
(1)100Q (2) 13330 (3) 180 {4)200
(1)
I L. = 0Z2A
v a8
R_I = l";ﬂ. _.i = leﬂ

_FSIIISEIIFFIIRIE
Stesl 4+— I 1m

[ 2 |

Brass — I 16m

1.14
Given
Y. =2 % 10", r=0.2 cm (same}
elongation in steel wire will n * 10 % m, then n will be

(1) 10 (2) 20 {3) 05 (4) 04
(2)
¥ s L = 314x10x1.6
Ay 0 2 0
=2840F

=2x10*m=20=10°

In Electromagneatic waves, energy of small volume oscillates with
(1) Double the frequency of wave

(2) Same as the frequency of wave

(3) does not change.

{4) halt the frequency of wave.

(1)
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Sol. U==-%£E§{YU§

= Tl*:E-g sin (st kx Al

=é£M1mﬂmtumv

2
Ug = 5 [{1—cos2({ut-kx)]AV

2y

Frequency of Ug and Ug is double of frequency of electromagnetic wave.

22, Statement=| : In a water reservoir pressure will be same at same horzontal level.
Statement=Il ; If pressure applied in a closed reservoir then it will distribute equally.
(1) Statement-1 and statement-2 both are correct

(2) Statement-1 and statement-2 both are incomrect

(3) Statement-1 iz comect but statement-2 is incomect

(4) Statement-1 is incorrect and statement-2 is comrect
Ans. (1)



